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Q202232 OIXEAS
8,000,000,000& *2%x11/12 146,667
0202842 0| E2& S
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11 S| 2SHUSHE A X E ALY 20,000 20,000
S04 & 20,000 20,000
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10,000,000,000& *0. 2% 20,000
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=2JI2LIH 2g 15,297 15,779 A482
101 el24d| 15,297 15,779 A482
M JIZHN22NSES 15,297 15,779 A482
S0i & 15,297 15,779 A4B2
OSIIHEMIBLIHEH 15,297
oJles 79,6703 x4 H 48! 15,297
oA A K2 2,210 2,210 0
201 Le2IH| 210 210 0
01 AtR22teltl 210 210 0
20i & 210 210 0
OgEt=ZH| 210
OFetASG A H& H
70,000 34 210
301 LetEdZ 2,000 2,000
14 JIEI2 &3 2,000 2,000
20i & 2,000 2,000
OFEIIIAY A QIHIEIE 252|453
- 10,0002 *100H*20JH 2~ 2,000
St 29 1,400 1,500 A100
201 Let2IH| 1,400 1,500 A100
01 AtR22teltl 1,400 1,500 A100
20/ & 1,400 1,500 A100
o2gsY 1,400
OSIHARS| BHS
70,0003 *10Y+23] 1,400
AHEAN EE 700 20,674 A19,974
HEZI| 2tel 700 20,674 A19,974
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01 AtS2teltl 700 5,500 24,800
20i & 700 5,500 A4,800
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FA: MLt ot

HH: HADE o2

cisl: U Foj 243 (crol:ae!
SN - O(BIH) - NRAY - BAS (ggj) @%%gm;ﬁ% D=2
201 LBt AY| 1,000 1,000
2 3524l 1,000 1,000
=0 A 1,000 1,000
(OFaF-=R=INFE 1] 1,000,000& 1,000
308 AXISHHISOIA 156,500 150,000 6,500
11 SO2SH S EAERE AN 156,500 150,000 6,500
=0 A 156,500 150,000 6,500
OFEEAXJANEH 2 156,500,000& 156,500
ng 55X ¢ oty 1,808,893 1,904,888 A95,995
g 20,250
Al 1,072,837
- 715,806
MAN =XE IS LAtel 1,808,893 1,904,888 A95,995
g 20,250
Al 1,072,837
- 715,806
NE=ES HEAAXE| Al 41,400 222,875 N 181,475
g 20,250
Al 8,325
- 12,825
201 LEt2AH| 500 0 500
g 250
Al 125
- 125
01 AF22telt] 500 0 500
g 250
Al 125
- 125
=0 A 500 0 500
g 250
Al 125
- 125
OFMIIY ¥ HA 2
500,000 500
g 250
Al 125
- 125
301 LEIEN= 4,500 4,500
14 JIEIE A2 4,500 4,500
S0l A 4,500 4,500
(OFSISINF=INEE = 4,500
OIPIP PN 300,000& x3H 23| 1,800
(@ImE=:] 100,000& *3H x5 1,500
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307 212H0IA 3,400 0 3,400
2 20,000
Al 8,200
= 8,200
VIR PONISTEES 3,400 0 3,400
2 18,000
Al 7,200
= 7,200
=0t 3,400 0 3,400
2 18,000
Al 7,200
2 7,200
OBAIIY HE 0121t
2,000, 0002 +3% <0062 3,400
2 18,000
Al 7,200
2 7,200
12 eI2teI RIS | 4,000 0 4,000
2 2,000
Al 1,000
2 1,000
=0far 4,000 0 4,000
2 2,000
Al 1,000
» 1,000
012N ¥ HEY
20,0008 ¥102523] 4,000
2 2,000
Al 1,000
2 1,000
7Y FHIEE 2o HIIX XY 44,760 25,240 19,520
201 LBt 25,960 25,240 720
01 AFR22IH| 22,000 22,600 2600
=0l 22,000 22,600 600
OFW ASY WIIX XL 22,000
OBEIY oz 60,0002 #3502 21,000
Os=28 H% S 1,000,00024 1,000
2 22| 3,960 2,640 1,320
=0far 3,960 2,640 1,320
OFA LS HIIX EHOIX KL%
330,002+ 128 3,960
207 oK 6,800 0 6,800
02 &AL 6.800 0 6.800
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S0 & 6,800 0 6,800
O&FY L& WI|XI SHOIX HEASA
6,800,000& 6,800
301 detENZ 12,000 0 12,000
03 ARl E &6 2(XIETHS) 12,000 0 12,000
=0 A 12,000 0 12,000
OaYd 2= WIIK XA 12,000
OF G AL 20,0002 100 2,000
Odllof - HiolI2 Y 50,0002 %100 5,000
OXZHANE & SAZ 50,0002 100 5,000
== ISt Ot2HI0I1E 66,000 0 66,000
Al 52,800
- 13,200
101 @I24H| 66,000 0 66,000
Al 52,800
- 13,200
M JI2tH22HsSE 66,000 0 66,000
Al 52,800
- 13,200
S0j &t 66,000 0 66,000
Al 52,800
- 13,200
O3 Uistd Ot=HI0IE 21|
2,200,000 *30H 66,000
Al 52,800
- 13,200
AR 2| S AEH 23 24,003 24,043 A0
201 Et2AH| 22,293 22,293 0
01 AtR2teldl 11,073 20,073 29,000
20 & 11,073 20,073 29,000
OdH 294| 6,913
OJI=2SNRES 300,000& 300
O=AEX 413,000 413
OSYAE 215K 200,000 200
OZg=Zey Y 300,000 *4 24 %13 1,200
OdH =28 M 3,600,000& 3,600
O=Ro1dy| & 2] ==&
100,000& = 12& 1,200
ogiel 3 2= ME 1,600
OelEZEXH HH 2,000& *200& 400
(@FSI=INEWNES; 1,200 *1,000& 1,200
OLXeISAIM &2 =& 1,000
OF&aA BN 40,0003 %1022 400
OFMAN Btz 60,000& x 105 600
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S - BB BR(31) - NSAY - BES S SR b=
oYXtz 1,560
O=A| LR+ 90,0002 x12& 1,080
OALI| ARt 40,0003 *12& 480
02 =323l 2,220 2,220
=0 A 2,220 2,220
OLXICIAE CHHAIAH(II2AT) 2,220
ORXNEx 150,000 * 12& 1,800
SETE 35,0002 22 20
03 A2 HH| 9,000 0 9,000
204 & 9,000 0 9,000
OF2IRE IHEHA} 9,000
OgRtelerets M= 9,000,000 9,000
202 04| 1,000 1,000
01 =LH4b] 1,000 1,000
S0 &t 1,000 1,000
O&2|¢yl 10,0002 x2Y * 10 *53| 1,000
203 RF=&H| 350 350
03 AMEFRH2FXIY| 350 350
20l 350 350
OMEBHA S LA2IXA HRFX
350,000 350
301 detENZ 360 400 AN40
14 J|Et2 43 360 400 N0
20 & 360 400 AN40
OAL NS AL AH] 360,000 360
SEE2 HIEREY 224 A ME 2,820 2,970 A150
201 LEr23Ad| 2,820 2,970 A150
01 AtR2teldl 2,820 2,970 A 150
S0 & 2,820 2,970 A150
Oget=2H| 720
OF 7% M& o3 29 720
-Mo| I M 12,000 x20 2 +33] 720
o2g+Y 2,100
OXRZ Mat §o|3| EHALE
70,0002 *10H *33] 2,100
SS2ZAY 840,180 840,180 0
Al 583,126
- 252,054
101 1244| 831,680 831,680 0
Al 582,176
- 249,504
M JIZtH22sE+ 831,680 831,680 0
Al 582,176
- 249,504
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Chol: MAE =XE 9B AN2l BB LR
SN - O(BIH) - NRAY - BAS (%'%fj:) @%%gm;ﬁ% D=2
S0l A 831,680 831,680 0
Al 582,176
- 249,504
OZ2Z222 At 22X el L 400 &2
== 831,680,000 831,680
Al 582,176
- 249,504
201 LB AH| 1,500 1,500 0
Al 1,050
- 450
01 AF222telb] 1,500 1,500 0
Al 1,050
- 450
S0 A 1,500 1,500 0
Al 1,050
- 450
Ogbt4=2H| 1,500
Ogl 8 H& 50,0002 x100H*32] 1,500
Al 1,050
- 450
202 04| 2,700 2,700 0
Al 1,890
- 810
01 2LHAH Y] 2,700 2,700 0
Al 1,890
- 810
=0 A 2,700 2,700 0
Al 1,890
- 810
OZU0db| 20,000& x1H*10 = 12& 2,400
Al 1,680
- 720
o220yl 300,000& 300
Al 210
- 90
206 =4l 4,300 4,300 0
Al 3,010
- 1,290
01 M2 bl 4,300 4,300 0
Al 3,010
- 1,290
=0 A 4,300 4,300 0
Al 3,010
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HH: D= &3 Y oy
Ciol: MAE =XZ 93 ANl BE (cr9l: &g
SN - O(BIH) - NRAY - BAS (%'%fj:) @%%gm;ﬁ% D=2
- 1,290
o222 AFY XHH 2 4,300,000 4,300
Al 3,010
- 1,290
KNEZ=H LRCIAI (HEALS) 404,782 404,782 0
Al 303,586
- 101,196
101 o12AH| 387,526 387,526 0
Al 290,645
- 96,881
M4 JI2ZtH 2 HsES 387,526 387,526 0
Al 290,645
- 96,881
=0 A 387,526 387,526 0
Al 290,645
- 6,881
OXNEBSHAIY 22X 212d|
387,526,000 387,526
Al 290,645
- 6,881
201 LEr2AHH| 1,000 1,000 0
Al 750
- 250
01 AtR2teld| 1,000 1,000 0
Al 750
- 250
=0 A 1,000 1,000 0
Al 750
- 250
OgBt=ZH| 1,000
O8l2 H& 50,0002 23] * 101 1,000
Al 750
- 250
202 Odd| 800 800 0
Al 600
- 200
01 2Nyl 800 800 0
Al 600
- 200
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